Conversion of Potential to Kinetic Energy
                  Name _____________________________________

Discussion:  Energy can neither be created nor destroyed but can be converted into another form of energy according to the Law of Conservation of Energy.  When an object loses potential energy (stored energy, PE = mgh) when rolling down a slope, the energy must be converted into another form.  Ignoring energy lost to heat due to friction, all the energy is converted into kinetic energy (energy of motion, KE = ½ mv2).

Materials: cart, inclined plane, meter stick, kg balance, recording timer, paper, ring stand, clamps
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Procedure:

1. Set up inclined plane (about 20o) with ticker tape at top of slope.

2. Measure Length of board. L = __________ m 

3. Measure Height of top edge of board. H = __________ m

4. Measure the Mass of the cart.  M = __________ kg

5. Using one meter of ticker tape, allow the cart to go down the slope while recording.

6. Measure distance from the beginning of the dots to second from the end dot on the tape.  This distance will be called l.  

l = __________ m
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7. Determine the change of height (h) the cart experienced going down the slope for distance l by solving:

H/l = h/l   therefore h = Hl/L
8. To find the velocity (v) at the end of the run, measure the distance between the between the last three dots (d), divide by two and multiply that by 60 to obtain the velocity in m/s.

9. Determine the potential energy (PE = mgh) and the kinetic energy (KE = ½ mv2)

10. Repeat using two more angles.

	Trial
	Total Mass (kg)
	l (m)
	h (m)
	v (m/s)
	PE 

(Joules)
	KE 

(Joules)
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Questions:

1. How does the kinetic energy (KE) compare to the potential energy (PE)?

2. Do your results confirm the Law of Conservation of Energy?

3. The KE should actually be smaller than PE.  Why?

4. Which angle gave results closest to confirming the Law of Conservation of Energy?  Explain.

Conclusion:

